Progression
In Maths

Subtraction




PENSHURST SCHOOL

WALT: I can wse objects to solve
subtraction (M:N Early Learning Goal)




WALT sublract one-digit and bwo-digit numbers to 20, including zero.
I can subtract numbers, including zero, 4o 10 (Black)

I can, with supporling malerials, sublract one-digit and bwo-digit numbers, including 2er0,
4o 20. (Ochre)

I can sublract one-digit and bwo-digit numbers, including zero, ko 20. (Peach/Fluent)

I can use and apply this kill o reason and problem solve (Mastery)

Black
1 7= 20 2.10-0= 3.5-5= 4. 10 - 8 =

PENSHURST SCHOOL

WALT: Subtroct one-digit .and tw.o-digit
rumbers to 20, including zero %



PENSHURST SCHOOL

3.32-30

2. 49 - 20
6. 59 + 40

4. 84 - 40 = B
8.47-20=

3.99-30=
7.95 - 60 =

6. 77 - 20

I.55-20=
5.82-30=




3. What wauld you gt | . — = 382 - 295

PENSHURST SCHOOL

WALT: Subtract rumbers with up to three
Lgits, ' rmal written .methods .o
Agite, wslng g ¢

subtraction
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PENSHURST SCHOOL

WALT: Subtroct numhbers w.ith to 4 digi
wsing the formal written methods of column
action where appropriate




[l WALT: To add and cublract shale surbars sith mare han & diglle, including sing puemsd
g hm«nummwmmhw-m.a.—.m ,mn...«m-;

Aigite, mNCh requras. B 10 regeaup nia. (Crimaze)
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#2218 - 31903 - ’ 2. = 54,374 - 16,53

334,915 - 1,908 « 4. = 53,486 - 2632

L 49,620 - 19,810 2 863,76 - 425,482«
; living in warious kowns in England.
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Vihat is the differance bebween the
numbsrs of pecple Living in Bedford and
in Dower?
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PENSHURST SCHOOL

WALT: To subtract whole numhers with .more
than &4 digits, including formal written .metho.ds




7. Thare are Mummumw&mm
Year 6, vk are 29 Aluderts Year § has 28 puplle.

Haw many pupils are in years 3 and b, allogathar?

. Thare are 11685
23;

Manday 2333 w
takan sub. How many plchue baoks ane it
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WALT: Solve probhlems irwolving subtraction

Mhe bma conbaied 1 3696

apples &
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A gallery vad 105325 wialiora In Sactember. In Jura
ialiars.

MMA

Haw many mors people viaied the gellery in Jura than
Saplamber?

T Famen Ihaight of & ruimber and aehirackd 3. Than
ahs addad 312

Har anewer wae 168 What was Fesecls nanber?
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B | How much change did ha gat from £I

3. 1672 pusgle aliond fa thacira AL tha wdaival GB7
leawe thalr asals. 1o qet refrashmants and anaiher 266
losws 20 get atagraphs.

Haw mang gmople semain in Sair sssta?
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PENSHURST SCHOOL




